
 U
PH

O
LSTER

ED
 AR

M
 C

H
AIR

/C
H

AISE À AC
C

O
U

D
O

IR
S AVEC

 D
O

SSIER
 EN

 BO
IS /SILLA D

E BR
AZO

S C
O

N
 R

ESPALD
O

 D
E M

AD
ER

A

P359271

 x1 C
hair back

 x1 D
ossier de chaise

 x1 R
espaldo de la silla

A
B

D

E
F

G
H

*
R

eplaceable
Part

 x1 Seat fram
e

 x1 C
ôté du cadre

 x1 Arm
azón lateral

C

I

P
age

1
of 5

*
*

*

*
*

*

*
*

*

x4 Allen bolt ∅5/16"x76m
m

x4 Vis à tête creuse hexagonale ∅5/16"x76m
m

x4 Perno Allen ∅5/16"x76m
m

x5 Allen bolt ∅5/16"x57m
m

x5 Vis à tête creuse hexagonale ∅5/16"x57m
m

x5 Perno Allen ∅5/16"x57m
m

x9 Flat W
asher ∅5/16"x19x2m

m
x9 R

ondelle plate ∅5/16"x19x2m
m

x9 Arandela plana ∅5/16"x19x2m
m

x9 Lock w
asher ∅5/16"

x9 R
ondelle de blocage ∅5/16"

x9 Arandela de Seguridad ∅5/16"

x1 Allen Key 5m
m

x1 C
lé hexagonale 5m

m
 

x1 Llave Allen 5m
m

M
ade In Vietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

R
esidential U

se O
nly

PAR
TS LIST / LISTE DES PIÈC

ES / LISTA
 D

E PIEZAS

D
ESC

R
IPTIO

N
/ LA D

ESC
R

IPTIO
N

 /D
ESC

R
IPC

IÓ
N

 :

x1 Front leg - left arm
x1 Patte avant - accoudoir gauche
x1 Pata delantera- brazo izquierdo

x1 Front leg - right arm
Patte avant   - accoudoir droit
Pata delantera - brazo derecho

J
K

M

*
*

*
*

x2 Allen bolt ∅1/4"x38m
m

x2 Vis à tête creuse hexagonale ∅1/4"x38m
m

x2 Perno Allen ∅1/4"x38m
m

x2 Flat W
asher ∅1/4"x13x2m

m
x2 R

ondelle plate ∅1/4"x13x2m
m

x2 Arandela plana ∅1/4"x13x2m
m

x2 Lock w
asher ∅1/4"

x2 R
ondelle de blocage ∅1/4"

x2 Arandela de Seguridad ∅1/4"

x1 Allen Key 4m
m

x1 C
lé hexagonale 4m

m
 

x1 Llave Allen 4m
m

N

*
x2 W

ooden Plug Ø
15.5

x2 Traverse latérale
x2 Tapón de m

adera

P

For assem
bly instruction video, please go to: w

w
w

.m
yfurnitureinstructions.com

 ITEM
 N

O
./ N

O
 D

’AR
TIC

LE/ AR
TIC

U
LO

 N
O

. :



P
age

2
of 5

*
R

eplaceable
Part

M
ade In Vietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

R
esidential U

se O
nly

   STEP 1
 ÉTAPE 1
  PASO

 1

   STEP 2
 ÉTAPE 2
  PASO

 2

A
SSEM

B
LY IN

STR
U

C
TIO

N
S/ N

O
TIC

E D
E M

O
N

TA
G

E/ IN
STR

U
C

C
IO

N
ES D

E M
O

N
TA

JE

IG
H

F
G

IE

H
B

A

For assem
bly instruction video, please go to: w

w
w

.m
yfurnitureinstructions.com

 U
PH

O
LSTER

ED
 AR

M
 C

H
AIR

/C
H

AISE À AC
C

O
U

D
O

IR
S AVEC

 D
O

SSIER
 EN

 BO
IS /SILLA D

E BR
AZO

S C
O

N
 R

ESPALD
O

 D
E M

AD
ER

A

P359271
D

ESC
R

IPTIO
N

/ LA D
ESC

R
IPTIO

N
 /D

ESC
R

IPC
IÓ

N
 :

 ITEM
 N

O
./ N

O
 D

’AR
TIC

LE/ AR
TIC

U
LO

 N
O

. :



P
age

3
of 5

*
R

eplaceable
Part

M
ade In Vietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

R
esidential U

se O
nly

   STEP 3
 ÉTAPE 3
  PASO

 3

A
SSEM

B
LY IN

STR
U

C
TIO

N
S/ N

O
TIC

E D
E M

O
N

TA
G

E/ IN
STR

U
C

C
IO

N
ES D

E M
O

N
TA

JE

G IF
H

C

D

   STEP 4
 ÉTAPE 4
  PASO

 4

M

K
N

J
P

For assem
bly instruction video, please go to: w

w
w

.m
yfurnitureinstructions.com

 U
PH

O
LSTER

ED
 AR

M
 C

H
AIR

/C
H

AISE À AC
C

O
U

D
O

IR
S AVEC

 D
O

SSIER
 EN

 BO
IS /SILLA D

E BR
AZO

S C
O

N
 R

ESPALD
O

 D
E M

AD
ER

A

P359271
D

ESC
R

IPTIO
N

/ LA D
ESC

R
IPTIO

N
 /D

ESC
R

IPC
IÓ

N
 :

 ITEM
 N

O
./ N

O
 D

’AR
TIC

LE/ AR
TIC

U
LO

 N
O

. :



*
R

eplaceable
Part

P
age

4
of 5

M
ade In Vietnam

 / Fabriqué au V
ietnam

 / H
echo en Vietnam

R
esidential U

se O
nly

*
x1 R

P359271-BAC
K- C

hair Back
                                D

ossier de chaise
                                Pespaldo de silla *

x1 R
P359271-FR

AM
E- Seat fram

e w
ith cushion

                                       Siège avec coussin
                                       C

ojín de asiento con cuadro del asiento
*

R
EPLA

C
EA

B
LE PA

R
T / PA

R
TIE R

EM
PLAÇABLE / PARTE REEM

PLAZABLE

x1 R
P359271-AR

M
L-Left Arm

s
                        Accoudoirs gauche
                        Brazos izquierda

x1 R
P359271-AR

M
R

-R
ight Arm

                        Accoudoirs droite
                        Brazos derecha

*
*

x1 R
P359-271-H

W
KIT-H

ardw
are Kit

                       Liste des pièces de quincaillerie
                       Lista del kit de m

ateriales

x4 R
C

-W
H

-N
AIL - W

hite Plastic N
ail

                              C
lou en plastique

                              C
lavo de plástico *

For assem
bly instruction video, please go to: w

w
w

.m
yfurnitureinstructions.com

 U
PH

O
LSTER

ED
 AR

M
 C

H
AIR

/C
H

AISE À AC
C

O
U

D
O

IR
S AVEC

 D
O

SSIER
 EN

 BO
IS /SILLA D

E BR
AZO

S C
O

N
 R

ESPALD
O

 D
E M

AD
ER

A

P359271
D

ESC
R

IPTIO
N

/ LA D
ESC

R
IPTIO

N
 /D

ESC
R

IPC
IÓ

N
 :

 ITEM
 N

O
./ N

O
 D

’AR
TIC

LE/ AR
TIC

U
LO

 N
O

. :



Protect Your W
ood or Lam

inate Flooring

* This statem
ent applies to any floor w

ithout carpet.

If not careful, all furniture including upholstery and case pieces can scratch, scuff and even gouge
foors. The recom

m
endation is to have felt, rubber pads or area rugs under furniture on flooring

w
ithout carpet.

M
oving your furniture

Pushing and dragging furniture over floor w
ithout carpet can lead to scratches and scuffs. H

ave som
eone

help w
hen m

oving the larger pieces of furniture by lifting, try using a dolly or m
oving pads.

Felt and rubber pads
Applying furniture pads to the feet of furnitue helps cushion contact poins. Furniture pads can be found
at local hardw

are stores. Felt pads slide easily across the floor, m
aking them

 ideal for dining chairs and
other pieces that m

ove w
ith use. R

ubber pads w
ill help furniture stay in place and are perfect for larger

pieces, like sofas and loveseats.

A
rea rugs and rug pads

U
sing an are rug under furniture is another w

ay to protect your floor from
 scratches and scuff m

arks. A
rug pad under the area rug w

ill provide extra cushion and added protection.

*
R

eplaceable
Part

M
ade

in
Vietnam

/ Fabriqué
au

V
ietnam

/ H
echo

en
Vietnam

R
esidential U

se O
nly

Page 5 of 5
For assem

bly instruction video, please go to: w
w

w
.m

yfurnitureinstructions.com


	P359- DINING ROOM Model (1)
	P359- DINING ROOM Model (1)
	P359- DINING ROOM Model (1)
	P359- DINING ROOM Model (1)
	P359- DINING ROOM Model (1)

